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�! A�2B 
���� C�& 3 �%���� D����� ���	E �$%���� F�����G H�I/? �� $J*. �#�KL 4� ������� A�*� HMN�� 
��O%P� F�2Q��������� ��9���� ���R��  . 3 $�%���� F�	���K�� ����S�� F�	���K�� TUE�V ��W���� X�G H���E
���� 6 �� 

�
��� 1 ��	���� 30 ������ �	����� �� ���S� F�Y����� �2Q� Z���G 
I/��O%P�  �������� ��9���� ���R���V%�E  $%��/ 
 �	�8 ��I5��E F�	����� X�G �[ \�8 ]�� ��I5��� T�^	? _`�E =H�a��� A�O�O ��� F�����G H�I/P F�	����� X�G

b�K��1U�9 ��O%P� F�2
K�� >�;? .  
 =��8N� �	�	����� FU�`�U� ��Sc d'  

  �� �����  

 ? (   d?� 
a��9���� ���0� �������� �E�������� ��#�&e� ���0� f������ <�2��� 3 F�``g 12,7-11,7 GHzh  
i(  b�KS�1�  �������� ��#�&e� ���0� 4�j�� <�2��� ��k $���� 3 l��# m�`��� ������� A��Ve 4^n4 ��	���� �� 30 

 �������	����� ��K# 3 $�%���� ������� F��^���E "F�a/N�� "� 3 $���11 � �� ��	���30 ������ �	�����h  
7(   d? 
����6 �� �
��� 1 ��	���� 30 ������ �	����� � ����� 6' �V�/ p��G ,-�. �&' �� �	�
�� F�*�# "�# ��

 F��*+�������� ��#�&e� ���0� 4�j��  �5���!' �� ��2�� 3 4� F��*+ �������� ��9���� ���0� 3 >�;? ��2�� 3<�2- 
������ 12,7-11,7 GHz =  

  �� �	
� ������  
 ?(   ���� ����. 
�! d?$%����  $�%���� 3 
����6 �� �
��� 1 ��	���� 30 ������ �	����� �&' �� �	�
�� F�*�# ZG 

 ��*+ q9 ������� Hj�	 d�. �������� ��#�&e� ���0� �� ��2�� 3 4� ��*+ �Gr�s-' Hj�S	 �����1 ��9�: ���;KS� ��2�� 3 �
 h>�;?  

i(   d?h������� ���`0� �� $J*. �#�KIt �������� ��9���� ���0� FNWE ZK8 d? \u ��*�S�� 
���� X�G  
7 (   d?
���� 6 �� �
��� 1 ��	���� 30 ������ �	����� 	 "�# �� ���� ����. vNw9 ��S�	 $%���� ���� ������ D��!

3 �[ x�K��� ��;����� $%����<�2��� 3 ���R���� ��O%P� F�2Q� F�����G H�I/? <�2-  12,7-11,7 GHz ���R�� 
hy%P� 6' �*����9 $������ ������� %��� 3 ����S�� �������� ��9����  

� (   ME�z �5�� {�| ]�� FU�}� �~�S� ������� F����S�� X�G Hj��� ���� ����. 
��$%���� 3 $�%���� 
���� 6 �� 
 �
���1 ��	���� 30 ������ �	�����= F�``g ����� qS�	E �������� ��#�&e� ���0� F�``g 4� ��`�� F�&  ��9���� ���0�
��������=  
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���  

1 -?l ME�z �5�� {�| ]�� FU�}� 3 � ���� ����. 
��$%���� 3 $�%���� 
���� 6 �
��� �� 1 ��	���� 30 ������ 
�	�����- = $���� ��*2�� �I��4 ��	���� �� 30 ������ �	����� ��K# 3 $�%���� ������� F��^��� E? "F�a/N�� " $���� 311 

 ��	���� ��30 ������ �	����� H��R�1� F�%��e� 4�2��� =
�! ���� ����. $%���� bE�~� 3 $�%���� 1 Z������ �5����� bN; 
 F�``R� v���P� ��S��� E?� �������� ��#�&e� ���0 F�``g 4��������� ��9���� ���0� ����S�� F�	����� �	�
�� =

� F�	��� ���S� F�����G H�I/? 3 $�%�E
���� 6 �
��� �� 1 ��	���� 30 ������ �	�����)  T�^	? �a-�F�a/N�� (10-1h  

2   $��Y�� 3 �%E �� 
B��� "�# l-?1 XN#?  Zw*�	ME�z H�#  ���� ����. >����$%���� 3 y%P� �21 "�# ������ 
 �`g ���; ��2�� �������� ��9���� ���0� �:������*s9 �S�j���1�1? F�2Q  �������� ��#�&e� ���R�� >�;? ��2�� 3   

dB(W/(m
2
 .27 MHz)) 103,6−.  

 bE�~�1  

 �	
� �	�
� �����
��� ������� (dB(W/(m
2
 .27 MHz)))�� ���  ����� ������� ��!"#$ ��%�����&�� ��$�
�� �'
(��  

)���*� �!"  
(cm) 

cm 45 

) ������ ����5(
cm 60   cm 80 cm 120cm 240 cm 500 cm 800  cm 1 100

 +��
�� ,%���
 ���-� .$

�/�0��� ����1���
,2�
��� ���&��3  ��
��� �	
� �	�
� ���(dB(W/(m

2
 .27 MHz))) 

θ = 0° 134,2−  136,7−138,7− 141,4− 147,4− 152,5− 155,6− 158,4−
θ > 0°  �a/N�� �a-�3 bE�~�E 2 �
��� 3 1  

�� ����1 – ���� ����� �	
� �	�
� �� ����� ������ ����� �� �����!� 1 "#$��� %&�'!� �� �(#
)� *�
+�#,� ����� -��.�&�( 
 *�
+�#/0�12�3� �	�
4  5
�6��� 7 �3��#�� *��#08!� 74 9+�#0� #�3�:�� ;�� ��<= 7 %�'!� >= ����!� 30.9 ?$.!  ��(���� ���@�

�
0��
��A8!� :BC�!� .  

�� ����2 – ���� ����� *��#�
� ������ E�
4 "�� ������ �'�F �� �G���� ���
� �
0��
�� �
H�IJ� ���.0� 5K���0� L� !��� *��#�
 �3��#
 ����� 71M �
N�O� ��)� �+�#P �� Q�:��� ����� ��(��
0��
�� ��(���� ���.0� 5K�� �
R#��� 7 3�)� �+�#,� ST L� �U�� �:BC�!� �0���
!� 

ITU-R BO.1213 V
'!� %
4 W33:��� X����� 7 �0$�� WI 33:��� 12,7-11,7 GHz �P����� Y0�� Z�� *�
+�#/0� 2,4 m �� � M5��5��[ 
�� 7 3�)� S	� ;
���3 �\0!� �� 3 5
�6��� �� 7 �H �P����� ��]� Z�� *�
+�#/0� #�3�:�� 9+�#0� m 2,4 .  

�� ����3 – ���� ����� *��#�
� ������ E�
4 "�� ������ ��^ �H �G���� 5K���0� ���
� �
0��
�� �
H�IJ� ���.0� �3��#�� *��#�
!� L� 
 ����� 71M�� _( W���� 5$� `3� Q�:��� �����  �'�a��� �3#a�!� �'�a5K���0� ���
!�*��)� �b�
$( ��08�!� ����� c2�� d�I 7 �e M .

 W���!� 5$U0� �	
� W� >= ��
���(�θ _( _�
+�fU�� _��)�� �3#a�!� 5K���0� ���
!� ���� ����� g�K�= ����� ������ �	
��� �� h��!��: 
 W���!� 5$U0�°0 ]

	��� ���Ni( j:\�!� �+�#,�( k�@� �l4m!� 7 �3��#�� *�N�:��n� o�&� p0H %
q �	�
4 M�#)� �H 2.  

�� ����4 – *�
+�#P ����� >= ��
���(  �
0��
�� ��(���� ���@� ����� 7 �3��#�� �H �U0�.!�1M �\0!� 7 3��#�� E#0&O� r�8� 2sn���  
��:���  ��	'�&n���'	!�.  

 �����5 – �� 5�O� ����O� *�I *�
+�#,�( �0$�!� ;
��� cm 60 �'�F p0H ����� �
0��
�� ��(���� ���@� ����	0� 3 W���!� o#��� 7 
°110 s��:F t °124  _����!� �	+�� 7 *�$$.!�( �08�� �	
� S�� s��:F1� 3 W���!� o#��� 7 °105�:F  s�t °129 s��:F:  

t   5
�6��� 7 �3��#�� �

���� *��#08� �vCa( %�'!� p�0� Z��4 5�� #�3�:�� 9+�#0� 30 o��� 2002� w  

t   5�� 1��.�&� Z��30 o��� 2002� w�,�	8�&� 7 g���� x���� %�'	0� �y�� Z���   



 �������ITU-R  S.1718  3

t   5�� %�'!� p�0� Z��30 o��� 2002 ��08�!� �0��'�� *��#08!�  �\0	0� s���� M%2�#�� 3�/�2n�(2 ��:�0� (Rev.WRC-2000) 49.  

�� ����6 – ����� 7 �3��#�� ;
��� z��G �'[ 1�
�8!� *���3J� _( X�U�n�( .  

�� ����7 – �
{/�!�� �
R#��� |6P 5q n �, ��4�$!� _�3�!� %2#e �

����( �/��]��� �� *���3J� 4� 115
�6��� ��  30#�3�:�� 9+�#0� .  

�� ����8 – ���� ����� ;
� >= 5R#��� } ������ _����� 7 �2��!� 1� 2 �\0!� 7 1 �
{/�!� -��.�&�(  �\0!� 7 �3��#��1 Q�:���� 
�� 5K���( ~�	
 �H ;2�b c��
b g�N#f�� �3��z%6 33:�� GHz 11,7 Y0�� �+�#P �g�U�� %65 g�N#f� ���:4 *�2�3 ;
� �#	�� 

 Y0�� �0R#��K 174 >= �P:�� 5$� Z�� *�
+�#/0� cm 60� K 198 �P:�� Y0�� Z�� *�
+�#/0� cm 80M� K 238 Z�� *�
+�#/0�  �P����� Y0��
cm 120� cm 240M K 317�� Z�� *�
+�#/0�  Y0 �P�����cm 500� MK 396 �P:�� Y0�� Z�� *�
+�#/0� cm 800:��� ��  . _( �

���� �mK�

�0R#�� g�N#N ���:4 �2�3� �0R#�� g�N#N ���:4 �2�3 7 �3��]0� ":K� ;
� 7 :l��� �'[ �
�8!� *���3J�.  

�� ����9 – �= �
4  �
0��
�� ��(���� ���@� ���� ����� �H ��8��� ����� cbi� �
f�� X����� 7 ��&�= *�
0	H s�f�� -�.�
�������(  *��4#
dB(W/(m2 .40 kHz)) . ���� ����� �	
� �UK %0��� �6P������� �( dB 28,3 = (40/27 000)log 10.  

 �����10 – �
R#��� |6� �$�� n  �/��.�
� �� ��� � �� ��4 �� ��� �I= �� ���\�� *�'�a0� c0
0q 7 %�'!� z��G �3��#�� ���8	0�
 �\0!� 71 5
�6�0� 30� 9+�#0� #�3�:�.  

  

 �����1  

 ���	
� �
���� ���� ����� ������� ���� ������������ ��!���� ���"�#�$%�&�! ��'���(   
����) *�+��� ,-.� ������� /0�1 ��) �����2�&3 ��4
5� ��6�$�� ���%� ���7��8  

 9:���� 6 ����� ;� 1 <��=��� 30��>�?�� @7����   

1 ������� �	
  

����. ��S�� ��*+ �	�K} ��MN�� $%���� ����  �;���� y�S�� �����1 ��9�: ���; ��*����� ��O%P� �2Q� Z���G \��9
 ��*+ ��WE A�O�O $%��/ F�V%� D�KLE �������� ��9���� ���0� ]���;����� y�S�������� �w�`��9 =�:  

 pfd (θ) = 10 log(∆T/T) + 10 log(k T bref) + 10 log(4π/(0.3/f)
2
) – Ga(φ) (1) 

��/:  

θ:  ������� q9 f%���� �`Y�� �;����� �**��� �������E l9 $�:����) �a/N�� �a-�3(  
ϕ:  �	E�j�� ��W�Y�� ������� q9� �**��� �;���� d��	 ]�� l9 $�:���� ��s��� �*����� Z���k� "�#

 �51?%)F�V%�( 
∆T/T: 3 �[ x�K��� ��*���� $��	j�� D�KL  ��*����� ��W��� A�O�O $%��/ F�V%�)% ( 

k:  d��j���9 ,9�:(
1-

J K 
23-

10) 

T:
 

 ��*����� ��W��� A�O�O $%��/ F�V%� D�KL(K) 

bref :  ZSV��� <�2��� y�#(MHz 27))  �a/N�� �a-�9  ������ 2(  

Ga(φ):  �*����� Z���k� \�.� �?% "�# 
����� �	E�j� q9 ��W�Y�� q���1(dBi) °ϕ 

f:  F�%�+e� �����;����� �**���E l9 $�:���� (GHz).  
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 �� l-? �/U)∆T/T(E bref E T  ���S� ����. d�� ���� �;����� �**��� $%���� Z���G \��� ���� ��L ZG �[ x�K���
�*����=������� q9 f%���� �`Y�� ���� �G f��� .  

2   ��
 ������ ������� ����� ���� ����� ������! "#�$�� �
�%� & "'�(�2   

 ���� ����. 
�! i��} ��I5��� X�G H�R���ZK8 ]�� $%���� F��*+ �������� ��9���� ���0� xE���� ]�� F�����k� F�& 
 q9 �5��I/?cm 45E m 11 F��*+ ��  �;����� �**��� �������� ��#�&e� ���0���S� f%��� �`� �	�Ej9 F�O����U�9 �

 q�a/N�� 3 �V%���2E 8 y�����E ��W���� 3 θ 1,1 = ϕ . 
���� ���E X�[ ���S��� bE�~� 3 FU�}�2 �9��� ZGE =X�-�? 
 ���� ����. 
�!$%���� bE�~� 3 $�%���� 1 �� 0 = θ. bE�~� �K^�	E 2 ]�� ��W��� A�O�O $%��/ F�V%� 
�! T�^	? 

 �W���� ,��R�1�
���� X�G 6'.  

 bE�~�2  

 �	
� �	�
� �����
��� dB(W/(m
2
 .27 MHz))  ����� ��������� ������  

 ������� �!����	" �����#�� ����
�� �$
��� �%��
��  

 ����� ����	
(θ) 


�� 
����� 
cm 45 

T = 174 K 


�� 
����� 
60 cm  

T = 174 K 


�� 
����� 
cm 80 

T = 198 K 


�� 
����� 
cm 120 

T = 238 K 


�� 
����� 
cm 240 

T = 238 K 


�� 
����� 
cm 500 

T = 317 K 


�� 
����� 
cm 800 

T = 396 K 


�� 
����� 
cm 1 100

T = 396 K 

0,01 134,2−  136,7−  138,7− 141,4−  147,4−  152,5−  155,6− 158,4−  
0,10 134,2−  136,7−  138,7−  141,3−  147,2−  151,4−  152,7−  152,9−  
0,50 134,0−  136,3−  137,9−  139,7−  140,8−  132,0−  133,2−  133,2−  
1,00 133,3−  135,1−  135,7−  134,8−  127,9−  126,6−  125,7−  125,7−  
1,50 132,1−  133,0−  132,1−  126,5−  123,5−  122,2−  121,3−  121,3−  
2,00 130,5−  130,1−  126,9−  120,4−  120,4−  119,1−  118,2−  118,2−  
2,50 128,4−  126,4−  120,3−  117,9−  117,9−  116,7−  115,7−  115,7−  
3,00 125,9−  121,8−  116,8−  116,0−  116,0−  114,7−  113,8−  113,8−  
3,50 122,8−  116,5−  115,1−  114,3−  114,3−  113,0−  112,1−  112,1−  
4,00 119,3−  114,2−  113,6−  112,8−  112,8−  111,6−  110,6−  110,6− 

5,00 111,8−  111,8−  111,2−  110,4−  110,4−  109,2−  108,2−  108,2−  
6,00 109,8−  109,8−  109,2−  108,4−  108,4−  107,2−  106,2−  106,2−  
7,00 108,1−  108,1−  107,6−  106,8−  106,8−  105,5−  104,6−  104,6−  
8,00 106,7−  106,7−  106,1−  105,3−  105,3−  104,1−  (1)103,1− (1)103,1− 
9,00 105,4−  105,4−  104,8−  104,0−  104,0−  (1)102,8− (1)101,8− (1)101,8− 

    10,00  104,3−  104,3−  103,7−  (1)102,9−  (1)102,9− (1)101,6− (1)100,7− (1)100,7− 
   11,00 

(1)103,2− (1)103,2− (1)102,7− (1)101,9−  (1)101,9− (1)100,6− (1)99,6−  (1)99,6−  
   12,00 

(1)102,3− (1)102,3− (1)101,7− (1)100,9−  (1)100,9− (1)  99,7− (1)98,7−  (1)98,7−  
 

(1)
  ������ ��	
�2 �
 ���� ����� ���� ������� �� ����� ��� � �!	�dB(W/(m2 .27 MHz)) 103,6−.  
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 �����2  

 ���	
� ���� 
���� ��� �����
 
����� ����(0 = θ) ����� � ���� �! "#�$% ��& 1   

 �����1:�8  F�����%�*�� i�!? �	xA EyAE xBE yB bE�~� �� 1 =��*2��� ��W��� A�O�^� ������ $%��}� F�V%�E T:  

 ,-�. �&'(cm) 60 ≥ d ≥ 45  ����#d���  :K 174 = T  

 ,-�. �&'(cm) 80 > d > 60  ����# : "�# b�`}� 
�	T H��R�1�9 X�-�? ����S�� d���E 60 = xA
 

E174 = yA 
E80 = xBE 198 = yB  

 ,-�. �&'(cm) 120 > d ≥ 80  ����# : "�# b�`}� 
�	T  H��R�1�9 X�-�? ����S��d���E 80 = xA
 

E198 = yA 
E120 = xBE 238 = yB  

 ,-�. �&'(cm) 240 ≥ d ≥ 120  ����# d���  :K 238 = T  

 ,-�. �&'(cm) 500 > d > 240  ����# : "�# b�`}� 
�	T  H��R�1�9 X�-�? ����S��d���E 240 = xA
 

E238 = yA 
E500 = xBE 317 = yB  

 ,-�. �&'(cm) 800 > d > 500  ����# : "�# b�`}� 
�	T  H��R�1�9 X�-�? ����S��d���E 500 = xA
 

E317 = yA 
E800 = xBE 396 = yB  

 ,-�. �&'(cm) 1 100 > d > 800 ����#d���  :K 396 = T:  
T = yA + (yB – yA)(d – xA)/(xB – xA) 

���� �2 : �	�8�*2�� \�. "`!? =Gmax:  
Gmax = 10 log(0.65(π 0.01d/(0.3/f))

2
) 

 �����3 :$%���� ���� ����. �	�8��*2���  (0 = θ):  
pfd (θ = 0) = 10 log(6/100) –228.6 + 10 log(T) + 74.3 + 10 log(4π/(0.3/f)

2
) – Gmax 

��/:  

T:  �V%�}� $%�� ��WE A�O�^� ��������� ���0� �������� ��9�(K) 

d:  �2!k� Z����*�����  �;�����9 �:����)cm(  

Gmax:  �*����� Z���5�� \�. "`!?�;�����9 �:���� (dBi) 

f:  F�%�+e� ���� �;����� �**���El9 $�:���� (GHz).  

����������  

  


